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Ans-Ho-the- Ques No: 4

T TPAY) v (meAm ) v (pAY)
= (Mapv=9) A (0 py TV v (PAY) (De Morganis law)
= (PV79) n (pve) v (PA% ) ( double megation law)
Cpv (= YNA9Y)) v (pAg) (distributive |aw)
= (PVF) v (png) (megackion law)
= pv (pag)
- p (absorption law)

Il

There fore, shown, — ((mpAQ)V (mpNA—Q))V(PAY)=P

— e () em—

Ans +o-the- Ques- No - b

(@) RrR1 - §(1,1),C12), (1-3). (L4), (15), (2.1), (2,2)}
(2,3) (2,4), (3.0, (32), (33), (4.1 (42),
(5,1) }
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b) R2 -
7(2,0,(3.1),32) (4.1), (4.2). (a2 C
C(4.2). (a3 (G
(5,2), (53) LSAJ] ’

@) ot reflexive
S)fmma)w“ie,

hol “mansthve

So Sin a
, L e u-lva|e >
Q! nee wvelakon must be Symmetmic petlexive

and  Aransih i
anStive R1 s notan equi valenct pelaton

(g) Mot symmetri ¢
ot Fransi five

hot ha_ﬂe’c‘i\f'ﬂ,

Sinee partial ordep helation must ke antt sy mme i
e

be. fexive and Aransi Hve
R2 le rot a Pah'l'ial
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pe lation .



Ans- o the - Ques Mo L 6

—

R1 - fQ, (22, (23, (3.1), (3.3)]
Rz - §(1.2) (2.2, (31), (33}
@ R1 URz - §(L1D,12), (22), (2,3) (3,1), (3.3)]
b) R1 Rz = §(2,2), BD. (33)}
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S is alio one ~T-0ve fipdfion becoyse iF has
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# 0z=], e is only fw:aa__‘fb_cl&rzéc)‘i:ﬁ.zﬁi’ﬁ:ﬁbz.ﬁbﬁ; e
(fn=2, %%ﬁaﬂng. .
thus, n=2, we oneed nation of one- o Two -
i staic locrereniz.
L S Coo o +Cpa 023 With initdl condition (o= L(,_%r
(n= numbar ot difterest wWZYS to cliob the Heircase.
' 1= numeer of strics
Example
i =2+ ] =3 B
_—— c : « 32 =5 o
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b) £(n){

£(n =0)
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